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&2 74,396
= 391,706
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s 1,000,000
= 1,600
= 844,886
NS BN &t 63,986 58,106 5,880
= 1,600
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SHSHEE 3,000 2,900 100
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= 2,400
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10 dAIAMHIEAZ 400 400 0
OZ203 &z HAT 2&=
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402 QIZHXE01H 2,600 2,500 100
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= 2,000
01 Q2UAR=2EX 2,600 2,500 100
O3UW3HE Headdl 2,600
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i 2,000
NEFMadst =4 8,230 7,510 720
201 B2 I 1,910 1,710 200
01 AtR2cldl 1,910 1,710 200
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ETECE 1,000 1,200 £200
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20,0002 +25% +23] 1,000
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HAE FRDS 2,000 2,000 0
= 1,000
2 1,000
201 st2 | 2,000 2,000 0
= 1,000
2 1,000
03 BAI=HH] 2,000 2,000 0
CEPSEREInE 2,000,0002! +13] 2,000
= 1,000
= 1,000
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201 Lsr2 | 30,000 30,000 0
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02 2224t 1,336 1,336 0
ORNM2YE 3323l 1,336
O& XS A =2l 300,000& *33| 900
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OHIEAIE, 922AE St &Ileas 2
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= 11,458
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= 2,72
= 10,901
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= 1,878
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= 1,000
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= 4,000
= 1,000
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OZt0ItHE a! &6t E MEZ
80,000 1200 & 960
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2203 *5,0000H 1,100
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OBEHEDNAN ZEE =877
5,000,000 *1CH 5,000
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HASAHIIA 22l 67,000 69,000 A2,000
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OHASHIIIA B4 700, 00084 %1074 A 7,000
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—38S 400,000 = 1000 2 4,000
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= 189,247
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23 304,920 144,584 160,336
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= 152,460
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OXN.ENXY ZHHAXS 80,000 0 80,000
= 18,000
2 62,000
e 80,000 0 80,000
= 18,000
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EEEE 80,000 0 80,000
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= 18,000
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HIDH 258,000 1,040,000 A782,000
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3 200,000 1,000,000 800,000
A A 200,000
39,249 48,150 £8,901
12 36,249 43,950 A7,701

_12_




A NS M

HH: #HE2HAY|

el JI2Z (XSS M) (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
2Bt FH| 9,249 11,550 A2,301
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